
 $$ gfjflns l;kmfl/;        100.00           100.00  
 $% Joj;fo÷ k;n gfd;f/LJoj;fo÷ k;n gfd;f/LJoj;fo÷ k;n gfd;f/LJoj;fo÷ k;n gfd;f/L        
  7'nf]       1,000.00          1,000.00  
  demf}nf         700.00           700.00  
  ;fgf]         500.00           500.00  

 $& j8f g+= ! b]lv % ;Dd 3/ gS;f kf; ubf{ w/f}6L jfkt       2,000.00         2,000.00  

 $* 
j8f g+= ! b]lv % ;Dd 3/ jgfpbf lgdf{0f ;fdfu|L ;8s 5]pdf 
/fVg] nfO{ dfl;s        150.00           150.00  

 $( law't l;kmfl/; Joj;flos÷ cf}Bf]lus k|of]hgsf nflu         50.00           500.00  
kmf/d laqmL tk{mkmf/d laqmL tk{mkmf/d laqmL tk{mkmf/d laqmL tk{m    

 ! 3/ gS;f kf; k'l:tsf        300.00           300.00  

 @ laB't, vfg]kfgL, 6]lnkmf]g l;kmfl/;, 3/jf6f] k|dfl0ft kmf/fd 
        15.00            15.00  

 # 
k]zf Aoj;fo, JolQmut 36gf btf{ kmf/fd / PsLs[t ;DkQL s/ 
kmf/fd  lgMz'Ns  lgMz'Ns 

 $ gSsn k|dfl0ft b:t'/ k|lt kfgf         5.00            5.00  
hUuf gfd;f/L tk{mhUuf gfd;f/L tk{mhUuf gfd;f/L tk{mhUuf gfd;f/L tk{m    

j8f g+= !,@,#,$ j8f g+= !,@,#,$ j8f g+= !,@,#,$ j8f g+= !,@,#,$ ----dlxtf, b]jfgul9of 5f]8L_dlxtf, b]jfgul9of 5f]8L_dlxtf, b]jfgul9of 5f]8L_dlxtf, b]jfgul9of 5f]8L_    

s_ Ps lauxf ;Dd        400.00          400.00  
v_ Ps lauxf b]lv % lauxf ;Dd        700.00           700.00  

 ! 

u_ kf+r lauxf b]lv dfyL       1,000.00          1,000.00  
j8f g+= % b]lv !$ ;Dd / j8f g+= $ sf] dlxtf / b]jfgul9of ;d]tj8f g+= % b]lv !$ ;Dd / j8f g+= $ sf] dlxtf / b]jfgul9of ;d]tj8f g+= % b]lv !$ ;Dd / j8f g+= $ sf] dlxtf / b]jfgul9of ;d]tj8f g+= % b]lv !$ ;Dd / j8f g+= $ sf] dlxtf / b]jfgul9of ;d]t    

s_ Ps lauxf ;Dd        350.00           350.00  
v_ Ps lauxf b]lv % lauxf ;Dd        500.00           500.00  

 @ 

u_ kf+r lauxf b]lv dfyL        700.00           700.00  
ufp+ Ans hUuf l;kmfl/; ubf{ufp+ Ans hUuf l;kmfl/; ubf{ufp+ Ans hUuf l;kmfl/; ubf{ufp+ Ans hUuf l;kmfl/; ubf{        

s_ j8f g+= !,@,#,$ s_ j8f g+= !,@,#,$ s_ j8f g+= !,@,#,$ s_ j8f g+= !,@,#,$ ----dlxtf / b]jfgul9of 5f]8]/_ afx]s ufpF Ans tk{mdlxtf / b]jfgul9of 5f]8]/_ afx]s ufpF Ans tk{mdlxtf / b]jfgul9of 5f]8]/_ afx]s ufpF Ans tk{mdlxtf / b]jfgul9of 5f]8]/_ afx]s ufpF Ans tk{m    

!% -kGb|_ xft ;Ddsf]       1,200.00          1,200.00  
!% -kGb|_ xft b]lv @% -kRrL;_ xft ;Ddsf]       1,500.00          1,500.00  

 # 

kRrL; xft eGbf dfyL       2,000.00         2,000.00  
v_ j8f g+= % b]lv !$ ;Dd j8f g+= $ sf] v_ j8f g+= % b]lv !$ ;Dd j8f g+= $ sf] v_ j8f g+= % b]lv !$ ;Dd j8f g+= $ sf] v_ j8f g+= % b]lv !$ ;Dd j8f g+= $ sf] ----dlxtf / b]jfgul9of ;d]t_dlxtf / b]jfgul9of ;d]t_dlxtf / b]jfgul9of ;d]t_dlxtf / b]jfgul9of ;d]t_    

!% xft ;Ddsf]        700.00           700.00  
!% xft b]lv @% -kRrL;_ xft ;Ddsf]        800.00          800.00  

 $ 

kRrL; xft eGbf dfyL       1,000.00          1,000.00  
cGo s/sf b/aGbLx?cGo s/sf b/aGbLx?cGo s/sf b/aGbLx?cGo s/sf b/aGbLx?    

 ! 3'DtL k;nsf] nflu b}lgs  -xf6ahf/sf] lbg afx]s         7.00            7.00  

 @ 3'DtL df;' :6n xf6ahf/ -xf6ahf/sf] lbg afx]s_         15.00            15.00  
 # 3'DtL df5f :6n xf6ahf/ -xf6ahf/sf] lbg afx]s_         10.00            10.00  
 $ aflx/af6 ;jf/L ;fwgdf NofO{ laqmL ug]{       1,000.00          1,000.00  
 % e}+;L kfng Joj;fo       1,000.00          1,000.00  



 ^ afv|f kfng Joj;fo        600.00           600.00  
 & s'v'/f kfng Aoj;fo        500.00           600.00  
 * g;{/L pTkfbg / laqmL lat/0f        360.00           500.00  

 ( sjf8 k;n lzzL af]tn Knfl:6s tyf cGo lsl;dsf sjf8        750.00           750.00  
 !) bfp/f ljs|L ug]{         360.00           360.00  
 !! ufO{ kfng Joj;fo        700.00           700.00  

    
pk/f]Qm jlu{s/)fdf ;dfj]z gePsf ;]jf ;'ljwf, Joj;fosf] sf/f]jf/ :t/ x]/L :yfgLo :jfoQ zf;g 
lgodfjnL, 2056 adf]lhd aflif{s ?= 100.00 b]lv 5000.00 ;Dd s/ lgwf{/)f ug]{ clwsf/ sfo{sf/L 
clws[[t nfO{ clwsf/ k|Tof]hg ug]{ . 

� slknj:t' gu/kflnsf If]q leq cfly{s aif{ 2071÷072 aif{ Ps sf] nflu b]xfo adf]lhdsf] cfo 
&]Ssf sf] aflif{s Go'gtd d'Nof°g b]xfo adf]lhd sfod ug]{ . 

s_ uf}td a'$ ldgL a;kfs{ Go'gtd d'Nof°g ?= 5,21,000.00 -kf¤r nfv PssfO{; xhf/ ?k}of_  
v_ xf^ahf/ a}&sL Go'gtd d'Nof°g ?= 11,03,000.00 -P#f/ nfv tLg xhf/ ?k}of_ 
� slknj:t' gu/kflnsfsf] b]xfosf df%fkf]v/Lx?sf] cfly{s aif{ 2071.072 b]lv 2075÷076 ;Dd 5 -
kf¤r_ aif{sf] nflu Go''gtd d'Nof°g b]xfo adf]lhd ug]{ . 

s_ dx'j/Lof uf+psf] k'j{ kf]v/L sf] Go'gtd d'Nof°g ?= 60,000.00 -;f¶L xhf/ ?k}of_ 
v_ ;]d/xjf ufp+sf] k"j{df /x]sf] df%fkf]v/Lsf] Go'gtd d'Nof°g ?= 83,500.00 -lqof;L xhf/ kf¤r;o 
?k}of_ 

    

PsLs[t ;DkQL s/PsLs[t ;DkQL s/PsLs[t ;DkQL s/PsLs[t ;DkQL s/    

1 ?= 1 b]lv 50 xhf/ ;Dd         25.00  klRr; ?k}of dfq 

2 ?= 50 xhf/ 1 b]lv 1 Ps nfv ;Dd         35.00  k}+tL; ?k}of dfq 

3 ?= 1 nfv 1 b]lv 2 nfv 50 xhf/ ;Dd         70.00  ;Q/L ?k}of dfq 

4 ?= 2 nfv 50 xhf/ 1 b]lv 3 nfv ;Dd         90.00  gAa] ?k}of dfq 

5 ?= 3 nfv 1  b]lv 3 nfv 50 xhf/ ;Dd        110.00  Ps;o bz ?k}of dfq 

6 ?= 3 nfv 50 xhf/ 1 b]lv 4 nfv ;Dd         120.00  Ps;o aL; ?k}of dfq 

7 ?= 4 nfv 1 b]lv 4 nfv 50 xhf/ ;Dd        130.00  Ps;o tL; ?k}of dfq] 

8 ?= 4 nfv 50 xhf/ 1 b]lv 5 nfv ;Dd        140.00  Ps;o rfln; ?k}of dfq 

9 ?= 5 nfv 1 b]lv 6 nfv ;Dd        150.00  Ps;o krf; ?k}of dfq] 

10 ?= 6 nfv 1 b]lv 7 nfv ;Dd        160.00  Ps;o ;f¶L ?k}of dfq 

11 ?= 7 nfv 1 b]lv 8 nfv ;Dd        175.00  Ps;o krxQ/ ?k}of dfq 

12 ?+ 8 nfv 1 b]lv 9 nfv ;Dd         190.00  Ps;o gAa] ?k}of dfq 

13 ?= 9 nfv 1 b]lv 10 nfv ;Dd        200.00  bÚO{;o ?k}of dfq 

14 ?= 10 nfv 1 b]lv 12 nfv ;Dd        260.00  bÚO{;o ;f¶L ?k}of dfq 

15 ?= 12 nfv 1 b]lv 14 nfv ;Dd        310.00  tLg;o bz ?k}of dfq 

16 ?= 14 nfv 1 b]lv 16 nfv ;Dd        350.00  tLg;o krf; ?k}of dfq 

17 ?= 16 nfv 1 b]lv 18 nfv ;Dd        380.00  tLg;o c:;L ?k}of dfq 

18 ?= 18 nfv 1 b]lv 20 nfv ;Dd        400.00  rf/;o ?k}of dfq 

19 ?= 20 nfv 1 b]lv 22 nfv ;Dd        500.00  kf+r;o ?k}of dfq 

20 ?= 22 nfv 1 b]lv 24 nfv ;Dd        630.00  %;o tL; ?k}of dfq 


